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SA AFY
M AZ OFGA P
Chol: MRIE QHRPIZ| AIAE PE(AZOIHSHS|H) (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JIE AERE i ds 22 XA 10,666 10,666
402 QI”F X201 & 10,666 10,666
02 QI X2 AL EER(0IETHE) 10,666 10,666
NI1E A=2 AN Es 22 X2
5,333,000 *20H 2= 10,666
HH =S 3 117,885 136,359 A18,474
AR AH|(HSAHNMELESIH) 117,885 136,359 18,474
ZISOtMHIE Q2] 117,885 136,359 A18,474
101 @124H| 117,885 136,359 18,474
02 JIEtME = 117,885 136,359 N18,474
NARILEH DI LS (2Y) 112,373
2JI2Ns 3,320,208 x2& x12&%1.03 82,076
NLLZR4E
12,8443 +1.03+20A| 22 * 128 6,351
2)BHSAHI
140,000 x2&* 128 +0 .62 2,016
2 EsE 100,000 x2&* 12 2,400
SR E
3,320,208 +1.03%(40/24) +84%+5i2 B 128
5,746
2)StE At
3,320,208 *1.03+84%+86%*(1/30) *(1/4.8)*56Al
Z2h2d 1,922
EUAHS
83,564,0002 *1.03+(24/40) Al 2+<2E 8% 8,262
2)XSE X
250,000 % (24/40) Al 2H2 « 122 3,600
NEg=s 5,512
HAUEEE 112,373,000 +3.545% 3,964
AWIIQAEEE 3,984,000 *12.95% 516
2)nEEE= 112,373,0002 %0. 9% 1,012




